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2 Question14/4
v + 1 pts Correct bounds for $$x$$
v + 1 pts Correct bounds for $$y$$
v + 1 pts Correct bounds for $$z$$
v + 1 pts Correct answer of $$\frac{15)8$$
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3Question28/8
v - 0 pts Correct
- 2 pts Fail to identify the region x:0->pi/2; y:0->sinx
- 2 pts Fail to apply Fubini
- 2 pts Fail to compute the integral

- 1 pts Incorrect final answer, e-1
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4 Question 310/10
Part A (6 points)
v - 0 pts Correct with sufficient reasoning.
- 2 pts Minor error setting up integral. i.e, one of the bounds wrong way, or a number incorrect.
- 4 pts Major error setting up integral. i.e, the wrong region identified, or incorrect set of inequalities.
-1 pts A minor error in calculating integral. i.e, a minor arithmetic error.

- 2 pts A major error in calculating integral.

Part B (4 points)
v - 0 pts Correct with sufficient reasoning.

- 2 pts Not identifying that the xy-projection is the same as the previous part in setting up the integral and
getting it incorrect.

- 1 pts Incorrectly setting up the z bounds when using a triple integral or using the incorrect integrand.

-1 pts Minor error in calculating the integral.
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5 Question 4 6/8
+ 8 pts Correct
v + 1 pts Correct usage of $$- 2 \leq x \leq y \leq 0$$ in understanding $$\mathscr{D}$$
v + 1 pts Correct usage of $$x"2 + y*2 \geq 1$$ in understanding $$\mathscr{D}$$
v + 1 pts Correct drawing of $$\mathscr{D}$$
v + 1 pts Correct bounds for $$\mathscr{D}$$
v + 1 pts Correct change of variables integral setup (given the bounds from first part)
v + 1 pts Reasonably correct integration (given the integral that was set up)
+ 2 pts Correct final answer

- 2 pts No explanation
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